Which logistics technology uses infrared or laser scanners to read Universal Product
Codes (UPC codes)? - ANSbarcodes

Which of the following aims to guarantee safety and security, as well as boost profits for
the United States, Canada, and Mexico? - ANSFree and Secure Trade (FAST)

Which of the following allows for a computer to communicate directly with a supplier's
computer 24 hours a day, seven days a week? - ANSThe Internet and Electronic Data
Interchange (EDI)

Which of the following can be described as a connection of millions of networks around
the world? - ANSthe internet

Which of the following characteristics of a high-performance team is critical in ensuring
workers have current knowledge and skills to do their work well? - ANSTraining

Which of the following describes the financial aid employers are required to grovide to
workers who are injured on the job? - ANSworker's compensation F\Z

Which of the following elements of a well- deS|gned w \%e %a described as the
science of designing and arranging the tool @& 2’ANSergonomics

Which of the following gove% cies hoId pT‘nary responsibility for

transportation saf-e W ANgS@D

Whlcl? 6@!)Wlng govern cies studies the causes of workplace injuries
and illnesses and develops ways to help control hazards? - ANSThe National Institute
for Occupational Safety and Health (NIOSH)

Which of the following governmental agencies sets and enforces safety standards such
as safe use of ladders, noise abatement, and storing of hazardous materials? -
ANSOccupational Safety and Health Administration (OSHA)

Which of the following has a username and a domain name in the format? - ANSEmail

Which of the following inspections involves checking for air, ground, or water pollution? -
ANSEnNvironmental Inspection

Which of the following is a basic function of warehouses and distribution centers that
involves assembling products from different areas for each customer order? - ANSOrder
processing

Which of the following is a critical function of a warehouse and distribution center
operation because errors that occur here typically continue throughout the material
handling chain? - ANSreceiving



